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fEH NEfL | G138 | STEE | K& 1 2 3 4 5 6 &% k3
50mP60M 1 1 281 & 101.6]| 102.1 101.3| 101.7] 101.4] 101.4 609.5
50mP60M 2 1 3ME# A 98.8| 102.2| 102.3 98.0| 101.3 97.3 599.9
50mP60M 3 1 43ms H= 98.5 970| 1018 100.3| 1005| 100.1 598.2
50mP60M 4 1 29|x% [B— 99.4 97.3| 100.3 99.9 99.8 99.5 596.2
50mP60M 5 1 30tk =S 101.0 99.5 97.6 99.5 99.9 97.8 595.3
50mP60M 6 1 ke & 97.2 99.5 98.2 98.7| 102.9 954 591.9
50mP60M 7 1 33|@|zE m— 96.9| 100.0 99.0 96.9 99.5 98.2 590.5
50mP60M 8 1 Mlgak Fne 94.3 99.8 97.3 96.9| 1004 97.9 586.6
50mP60M 9 2 26|k fEE 98.3 91.6 98.2 99.7 99.1 97.2 584.1
50mP60M 10 1 45|mn =t 95.9] 100.2 97.7 98.8 96.0 94.5 583.1
50mP60M 11 1 Blhe = 98.2 96.2 99.5 96.2 95.4 95.7 581.2
50mP60M 12 1 36l 5 97.8 99.9 87.0 95.7 99.0| 1015 580.9
50mP60M 13 1 35|tE = 94.7 92.3 97.2 97.1 96.8 98.3 576.4
50mP60M 14 1 40l %= 97.6 97.6 94.3 90.3 96.6 98.3 574.7
50mP60M 15 1 32xig #A 93.8 96.3 96.1 96.8 93.5 91.8 568.3
50mP60M 16 1 NeE = 90.0 83.8 96.6 94.0 94.0 90.5 548.9
50mP60M 17 1 +mE EB 94.5 84.3 88.0 90.9 94.8 88.2 540.7
50mP60M 18 1 2EH 12 87.0 92.3 87.4 90.1 93.4 86.5 536.7
50m3X20M 1 2 30|—=&ue = 92 91 93 95 87 80 538
50m3X20M 2 2 28|5# XA 86 91 96 97 83 82 535
50m3X20M 3 2 36|Fex s 83 90 92 96 85 86 532
50m3X20M 4 2 9|58 Ba 83 85 92 88 89 89 526
50m3X20M 5 2 3|gsAk FuE 86 80 95 93 82 86 522
50m3X20M 6 2 ek E= 88 91 92 94 73 79 517
50m3X20M 7 1 47lEm fnk 85 89 90 91 74 79 508
50m3X20M 8 2 33k = 79 85 97 89 73 64 487
50m3X20W 1 2 MsrE k% 93 91 93 96 92 91 556
50m3X20W 2 2 KR ER S 90 92 90 86 78 79 515
Afl=

&8 Bz | 53 | HEE| K& 1 2 3 4 5 6 &t %
50m3X20MW 1 1 46| 1L B = ALR 92 94 98 97 90 90 561
50mP6OMW 1 1 44kt EF 1004| 101.2| 101.2]| 1021 102.7| 100.8 608.4
50mP6OMW-S 1 1 A8l BB 994| 1039| 1028| 1029] 1011 97.7 607.8 |xa—7
50mP6OMW-S 2 1 27\RREs Sk 99.4 97.9 93.9 84.0 95.9 99.0 570.1 |za—7




